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1. ������	�
����
��
 2 �	� ��� 23 ��	 (45 �����)
2. �	��
� 1  �� ��������! ��� 20  ��	 (30 �����)

�	��
� 2  �� ����	����! ��� 3 ��	 (15 �����)

����!
 1 ����	��� �����!
$%��&���!
�'�
1. #����$%#&$�����'� 6 )*�+#$+�*�,�� 0 - 9 ,�!/�012�����*�3�&$+��/��+
�#&$��� 

+. 6,480  #&$��� �. 136,080  #&$��� �. 409,104  #&$��� %. 2,177,280  #&$��� 
2. �*�,�� 0 - 9 �&$�$���$%#&$�����'� 4 )*�+�*�)$����! 5 *%���/��+
�#&$��� 

+. 30  #&$��� �. 126  #&$��� �. 900  #&$��� %. 1,800  #&$��� 
3. �&$78�2$!�*�78�)9:%#&$�����0$+���$!;���
!%�� �������% ,�!1)�78�2$!!;��80+��78�2$!�*�78�)9:%!;��80+��78�)9:%

#�#��/�� 1,152 �:<
 	!$+��$��0$=�$�*;	+78�2$!�*�78�)9:%	!0$%*� 2 �� �$!;��� �������%,�!1)�78�2$!�*� 
78�)9:%!;��*��+��#�#��/��+
��:<
 
+. 36  �:<
 �. 72  �:<
 �. 108  �:<
 %. 144  �:<
 

4. ��'+2$!��)�>�%�*���'+)9:%	
+�
����� �?
���	%+�� ��	%+$�#������
!�)�	%�	��
��
	!80 3 )�	% ,�!�
�%;�	�/� 
�0$��'+2$!��	%�	�����
!� �0����'+)9:%�	�)�	%*�/�0�+:� 2 �� #%)$#&$����:<
�
�#�#����'+���%)�$�����$ 
)�	%�	����% 3 )�	%��%+*0$� 
+. 10  �:<
 �. 36  �:<
 �. 42  �:<
 %. 48  �:<
 

5. 2$!)9:%��� 6 ��!;��� �������%�8��$��)*
�!���%�8� =�$#��1)����
� 1, 3, 5 �*���&$�)�0%+�� 1 ����%�*��� 
�
� 2, 4, 6 +'�*���&$�)�0%+�� 1 ����%�20�+�� �
�%;�	�/��0$���
� 1, 3, 5 #��*���&$�)�0%+�����
� 2, 4, 6  /�0/�� 
#%)$�0$�
#&$������%�:��+
��:<
�
�#�!;��*���&$�)�0%+��,�!/�0�
1��!;�3�&$1��&$�)�0%��:�

+. 6 �:<
 �. 12  �:<
 �. 24  �:<
 %. 36  �:<
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6. ,�%%$�	@��$)+����)0%)�>�%�
���;�	%#�+��
���+�0$%+��	!80 6 ���;�	% 1���0*����#��
���;�	%�
�=8+12�%$�	!80 
4 ���;�	%,�!�
?��+%$����#&$	!80���;�	%*� 1 �� =�$?��+%$��
��
)��$�
����#&$���;�	%#�+��
���%)�� 6 �� #% 
)$�0$?��+%$���0*���#�/���&$%$���%+*0$���*�	!0$%��	!+
����1���0*�����$)A ����:�0$?��+%$���0*� 
���&$%$��?
!%+���
!�1���0*����
+. 4 ��� �. 7 ��� �. 8 ��� %. /�0�
��	1�=8+��	% 

7. #%)$#&$�����+��
!�)9:%�
�!;�=0$!�8�)�80+����+��
!�2$!#&$��� 4 ���
��
#&$����:<
+$�!;����/�0�
�%;�	�/� 
��0$+�� 5,040 �:<
 
+. 3 �� �. 4 �� �. 5 �� %. 6 �� 

8. =�$?#�A�
� 4 #$++$�+��#$! (2x - y)n �;	 -1792x5y3 �*�?#�A�
� 7 �;	 112x2y6 �*�� n2 - 1n
1
− 1+*���
!% 

+���0$1��0	/��
�
+. 50 �. 55 �. 60 %. 65 

9. #%)$#&$����:<
*$+����#$+#@� A /�!�%#@� B ,�!1)�70$���0*�20	%�	%�$�$%)�$+�@+��$� 8 × 8 )�0�! 
�?
!%����%��
!� ��%�8�

+. 6,435  �:<
 �. 12,870  �:<
 �. 40,320  �:<
 %. 80,640  �:<
 
10. +*0	%1�)�>�%�
�*$+	!80 10 1� ��0*�1���
!��*�,�� 0 - 9 /�03�&$+�� =�$�@0�)!:��*$+�$ 2 1�,�!��;�	)!:� 

1���+�$�*��/�0��	%1�0�;�#$+�����0	!)!:�1��
��	% #%)$��$��0$#��� ��
�#�)!:��*$+1�1�1�)�>�%�
� 
�*�,�����*$+����)$����! 3 *%���
+. 10
1 �. 10

2 �. 10
3 %. /�0�
�&$�	��
�=8+��	% 

11. 78��2
�!�2$9�	�?:���	�A��)�>�%��	%+$����$�)����	�8*	!0$%%0$! ,�!+$�12����	�+G�H$G$	�%+IG7��+���*� 
,�� 0 - 9 ��$��	%+$�1)��)���
����$%�>���
��
��$�!$�/�0�+:� 255 ���	�+G� #%)$�0$=�$�J+�+	�A��	%+$��,�! 
�)���
� �J+�+	�A#���	%��$	!0$%�$++
�����%#>%#���$�)���
�=8+��	% 
+. 1 ����% �. 290  ����% �. 8,925  ����% % 1.69 × 1084 ����%

A

B



12. KL$!����
!��	%,�%��
!���<!��)0%)�>�%�
)��$�
�		+�*����#&$���1)�+����+��
!�1)�0�@+�M+$�N>+G$ ,�!�
 
��	+&$)���0$�*����#&$�����+��
!�#��
���%)�� 7 )*�+ ,�!�	%)*�+��+���#$+�$%3�$!�� ��*��M+$�N>+G$ 
)*�+�
��$��� ��*����2����M�	%��+��
!� �0��	
+�
�)*�+�
��)*;	#�1)��	�?:���	�A�@0�		+�$ #%)$#&$��� 
�*����#&$������%)���
�KL$!����
!��	%,�%��
!��
�#�		+1)�/��1��M+$�N>+G$)�>�%O 
+. 1,000  #&$��� �. 9,000  #&$��� �. 10,000  #&$��� %. 70,000  #&$��� 

13. 1�I�8K� �&$)�����0*��������:�0$,	+$��
�K�#��+	!0$%��
!��:��� ���	!*� 64        ,	+$��
�#��
���		+ 
	!0$%��
!���0$+����	!*� 20  #%)$�0$,	+$��
�#��
���%���		+�*�K��+1������
!�+���
�0$��0$1� 
+. ��	!*� 16 �. ��	!*� 20 �. ��	!*� 84 %. ��	!*� 80 

14. #%)$��$��0$#��� ��
��*$++:���0%��P�$*1���0*�%��#�		+�*���$! 2 ����� �#&$����
?$� )�;	)$����! 
7 *%���
+. 0 �. 610

7 �. 610
35 %. /�0�
��	1�=8+��	% 

15. 1�+$��*0��+�$	
�����
 #��
78��*0��$++�0$#&$����+�$	
�	!80 1 ���	 #%)$�0$#���	%�*0��+�$	
�����
���%�:��+
��	� 
#>%#��)*;	78��*0��?
!%����
!� (����:�0$�
78��*0�#&$��� n �� �*�1)��	�1���	��	% n) 

 +. n �	� �. n - 1 �	� �. n!  �	� %. (n - 1)!  �	� 
16. 1�%$�����)�80����%)�>�%�
�80�������%)�� 30 �80 1�#&$����
��
�80�����
��� �)9:%�����0����%)�� 11 �� 

�80�����
��� �2$!�����0����%)�� 6 �� �#�$H$?+&$)��1)��80�����
�1�0��0����%�80�>��/�+*0$������
 #%)$ 
��$��0$#��� ��
�#��
�80�����
���1���)�>�%�����0��>��/�+*0$������
 
+. 15
8 �. 15

14 �. 30
7 %. 30

23

17. ��#���	+/���
�	+/��2�:���
!�+����0�*��
��%�
� �
��% 6  �	+ �
�)*;	% 3 �	+ �*��
2�?8 3 �	+ ��$ 
��	%+$�#���	+/��1�0*%1��#+�� 3 1��
��
��$��0$%+���;	 ��$��*'+ ��$�+*$% �*���$�1)90 #%)$ 
#&$����:<
���%)��1�+$�#���	+/��*%1��#+�����%�$�1�,�!�
��#+����0*�1���	%�
�	+/������@+�
 
+. 12 �. 27 �. 54 %. /�0�
��	1�=8+��	% 

18. ��+2
��:�!$��	%+$����	���$��$�$�=�	%*:%1�+$�����8��2:%#&$��� ()�$!��$��0$�$�$�=��$�/���0$
�*��
��
�0$��0$1�) #>%�&$+$���*	%,�!1)�*:%+��@L�����R�,��N�?�A��;�	��+2
��:�!$!+�70��R$!���% 
#&$��� �20� ��;�	��+2
��:�!$!+�70��R$!�*� 4  +')�$!��$��0$*:%#���	%+���R��*� 4    #>%#�=;	�0$=8+��	% 
=�$��+2
��:�!$�&$+$���*	%�
��?
!% 5 ����%,�!�@0��*����%��0 0 - 9 /�03�&$+�����% 5 ����% #%)$��$��0$#��� � 
�
�*:%#��$!=8+����@+����%
+. 126
1 �. 120,15

1 �. 1 %. /�0�
�&$�	��
�=8+��	%



19. +&$)��1)� A = {0, 1, 2, 3, U, 20},  B = {0, 2, 4, 6, U, 20},  C =  {1, 3, 5, 7, U, 19}       #%)$��$��0$#� 
�� ��
���;�	�@0�����*�#$+�3� B ���)�>�%�*��3� C  	
+���)�>�%�*�� 7*��+�	%����*����%�	%#&$�������#�/�0 
	!801��3� A 

 +. 5
1 �. 5

2 �. 5
3 %. 5

4

20. ����:�0$��$��0$#��� ��
���;�	�0$�,�!�$����;�	%�:��*�����;�	%#������	@���:�)�@�+��0$+�� 0.0001     ��$� 
�0$#��� ��
��0$�#������	@���:�)�@��;�	,�!�$��=/X��0$+�� 0.0005      �*���$��0$#��� ��
��0$�#������ 
	@���:�)�@�$%�=!��A��0$+�� 0.005    ��$��0$#��� ��
��0$�#������	@���:�)�@?��	�O +�����%�	%	!0$%��0$+�� 
N8�!A �*���$��0$#��� ��
��0$�#������	@���:�)�@?��	�O +�����%�$��$%��0$+��N8�!A	
+�20�+�� #%)$��$� 
�0$#��� ��
��0$�#������	@���:�)�@��;�	�0$�,�!�$��=/X)�;	�=!��A)�;	��;�	,�!�$����;�	%�:� 
+. 0.005 �. 0.0056 �. 0.0005 %. 0.05 
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 2 ��������)!� � (��� 15 �����)
1. #%?:�8#�A��	��$��0	/��
�

1) r!
n
r
 
 
 

= n!
(n r)!− (1  �����)

2) 
n
r
 
 
 

=
n

n r
 
 − 

(1  �����)

2. #%?:�8#�A�0$#&$����:<
+$�#����
!%�+�$	
�#&$��� k ����
���+�0$%+�����%)���� ��%+*��
�0$��0$+�� 
(k - 1)! (2  �����)

3. +&$)��1)� A, B  �� ��)�@+$�[A1�O �
�/�0�+:��>���0��+�� (disjoint events)  #%���%�0$
P(A ∪ B)  =  P(A) + P(B) (2  �����)

4. �:!$� A, B �� ��)�@+$�[A1�O �*� P(A | B) �;	 ��$��0$#��� ��	%�)�@+$�[A A �
��>��	!80+���)�@+$�[A B 
 ,�!�
� P(A | B)  = P(A B)

P(B)
∩ =�$ A, B �� ��)�@+$�[A�
�/�0�+:��0��+�� #%���%�0$ P(A ∩ B)  =  P(A) ⋅ P(B) 

 (2  �����)
5. #%���%�0$#&$�������3����%)���	%�3��
��
��$2:+ n ����
�0$��0$+�� 2n (2  �����)

(���� �: 1)����!@+�A12��IGg
����:�$�1�+$�?:�8#�A�
�)
6. #%)$�8�����	% (1 - x)n �&$)���#&$�����'���+n 1�O (2  �����)
7. +&$)��1)� A, B, C  �� ��)�@+$�[A1�O 1��3���h*���3 U #%���%�0$ (3  �����)

P(A ∪ B∪ C)  =  P(A) + P(B) + P(C) - P(A ∩ B) - P(B ∩ C) - P(A ∩ C) + P(A ∩ B∩ C) 
 


